In problems #1-3, find an antiderivative of the function

1 flz)=1- 3.-1_.'2 — ba
2. fle) =x—af
3, flx) =v2xr+1
In #4-7, find the indefinite integral
4 J(2 45 /5)dx
5 f )ll —3)3(h
6. f[ x* *f_ dr

7. | x+ dx

J xa‘/,?
8. Solve the differential equation [ ) =4a’ — 3P + 1 — 3, \ i
9. Find the antiderivative Fla ) of the function fla ) =2+ 22 that satisfies F{D} =
10. Evaluate the indefinite integral “xldx. (Hint: Examine the graph of f(x) :|x| )



Answers

Review Answers

_ Flz)=z—2"-322+C

1. Flz) =z —a” —
5 F[':11}=‘_'HT*—§:EI.—I;C
3 Flr)=52:+1)5+C
4 (B-I-\/_)rh =2r+\oxr+C
5, ff’(z—ﬁlﬂd =& ,c
o [ (x ﬂdx——r‘i’+c
2
7. jx—i— ! dx‘:—i—i+C
XX f\'j;



Indefinite Integrals Practice

1. Verify the statement by showing that the derivative of the right side is equal to the integrand of the left
side.

a. I:—%:](i\’—%+f b. J"I—%/%:dx—x—}f/;+(.“
2. Integrate.
a. I6(f.r b. Iszdr c. IS.Y‘de d. In’u
e. Ix%dv f J‘Q/;(fx g I%n’x h. J‘%dx
xyx 2x

i J‘[x3+2)dx j. I(Zx% +3x—l)dx‘ k. Ii/x_zdﬂr 1 J‘%(f.\’

m. de 1. Ir2+2df 0. J‘H(SHE-I-I)O?H

4x? 2

I
p [(x=1)(6x=5)dx  q. [»*vdy
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Answers

: (Of course, you could have checked all of yours using differentiation!)
5
6x+C b £+C c. —?"—C d u+C
RS
2 s 3 -2 1
—x%+C f. l-\3/.r4+C g —=+C h ——+C
5 4 Jx 457
x' 6 % . 3, 3.y 1
—+2x+C j. =xB +=x"—x+C k —x?+C 1L ——+C m
/ 7 2 5 2x
. r—2+C 0. ‘—’u4+iuz+C
t 4 2

2x3—1—21x2+5x+C 0 %y%m

—+C



3. Find two functions that have the given derivative and sketch the graph of each.
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